Funcdions

Def: Let A ad B be sebs. A fuchiom $:A-B
1S @& r‘v\\Q bjﬁc\'\ ﬁssoda\fs ‘l'o eucl\ XeA
on element L0 € R.

‘Ais He domam oF £, wnblen A=Dom($).
U’LQ SQ"- og all va\.‘i 11\?-»\—53

\/\/e Mjw' Svj (’\ iS5 o (Q\nc'l"'on on A

.B i '“«{ "l"é@_" or Coolomdv\ es: ‘c
(o sel con\m.‘mj all i:oss:ue oAFAs)

.E"" KEA’ {'\("3 is ‘H«e v‘ihe og Q ot x.
[#is He Mm) L) % an element oF B]

* The M«»\ (nir_ 5 a Snovjw\ s-\o\r g-w‘-‘ov\.

NOLG. Mf\n“' "'D M\m o M‘W\) e w\ws"
s‘m:& bt Hle doman and  He ‘L’”L]‘}‘



E}i Lel A‘Z“,L,C,o\z. Defie

=2, £(B)=3, £>=1,

\AA'\M ‘H« Aﬂw\a:v\ S g'n‘.‘f ) ':LQ
:l- 3 Lm y W& Con su\l’ wu«<
Q«\c"‘-‘on as & *L-“e : drfr‘

i [0,0) = [0,)
:\ " fm‘] - KR
k: [I)Z] - [I,‘l]

Q: \’J“J C‘M"" (22 aol'/l

L (1,31 — [, 5) e t_]
4’0 '“m‘s '(S"’?

A—-2z by

LAY =1.




%Z We 603 £+M Q‘nc"‘\‘ms ": hncx 3 Cure

A(D DOML'CS = D'-‘M(JS

D For em’,j xﬁDom(ﬂ) L) '-:(’("3.

I His cose e waile ¥=§ ‘tez”'f] & valees

T e M'.' 0 x—
o,

[

E,xf Py WHJ. an‘oms 6’{aw\r|¢) e hae 3 &M\&L‘OV\S
MF*‘» &Ltu"nh? £=J=|n) v a-le'=L.

QQS: LQ" -F‘A-’B be o \cﬂ\o on . TL& V:%_e,_ cs:‘c)

A@v\o“‘e& P:j ('B 5 N3 \“\Q Sa:"

Rv\3(£§ = 23“8 I ¥(83=J $or some xeA}.
Nofe : Pj(ﬂ <k a«‘l‘om.-‘n‘uh.

o V‘m.~| " (‘c % J‘w. OS: a\“ wchon
cQ IA) Pj 3 SQ"' ’R‘

w‘ue S.



